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a) d statisic b) d statistic C) d statistic
0.96 0.083 0.21
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| For N> 10:

¢ 05 level =1.36/sqrt N
e 01level=1.63/sqrt N

"Two Sided" (comparing two different data distributions or size m and n)

« .05 level = 1.36(sqri((m+n)/mn)
¢ (01 level =1.63(sqrt((m+n)/mn)

K% Test Compansen Cumulative Fracuon Plo

2000-2017 Period: n =18 o ' | ! I ! A

1950 -2000 Period m = 51 i
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Ohbserved D-statistic = .56 X

Clearly higher than the 1% level so these two distributions can
not be the samel

For the Model: N =78(1940-2017 is the data)
Sqrit N =8.83
.05 level = 1.36/8.83 = 0.15 D = .085; D is not greater than the

.05 level so data and the model, column D, are the same

01 level =1.63/8.83=0.18 D =0.21; Dis greater than even the
.01 level so the data and the maodel, column E, are not the
same) = this means that model E does not agree with the data -
we will make use of this approach later when dealing with
climate change mndelsl
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